100% Guarantee
Vendor:IBM

Exam Code:C7010-010

Exam Name:IBM Ciram V6.0.4 Application
Development

Version:Demo



QUESTION 1

Which of the following statements about the different approaches to generating unique IDs are true?

A. A dedicated BPO should be used to generate readable keys.

B. A programmatic or model-based approach can be used when the key needs to be returned for further processing.
C. The model-based approach should be used to generate keys from the Default KeySet.

D. The model-based approach reduces the chance of key conflict.

E. A key set must be specified when using the programmatic approach.

Correct Answer: BD

QUESTION 2

From the DefaultAppSection.sec file presented here, which of the following statements is valid?

<?2xml wverzion="1.0" encoding="IS50-8859-1"7>

cac : ametio:
¥xmlnz:sc="http://vww. curamsoftware, com/curam/util/client/section-config"

id="Defaul tAppSection” title="Defaul tAppSaction. titlae™™:

c:tab id="AccountHome" >

g

-

cishortcut—-panel-ref id="AccountSectionShortouts™ />

4]

<ac:tabh id="0OrganizationfHome™ />

<zc:tab id="dccountHome"™ />

ge:shorcout—-panel-ref jideDafaultSectionShortcuts" /

A. When this section is rendered in the browser, the AccountSectionShortcuts panel will be rendered if the user visits
the AccountHome tab

B. Configuring two distinct Tab elements, both referencing AccountHome, allows Curam to display two different account
details in separate tabs at the same time

C. This configuration will be loaded to the database without error, but an error will occur at runtime
D. At build time an error will occur preventing the configuration from being loaded

Correct Answer: D




QUESTION 3

Which of the following scenarios would depend on using the MENU element?

A. Configuring a control at page-title level with 3 options for the user to select.

B. Defining a modal page that is part of a wizard.

C. Specifying that a field in a LIST should contain one or more ACTION_CONTROL elements.
D. Defining which sections users can navigate to in the Applications Section Bar.

E. Providing the user with in-page navigation links.

Correct Answer: BE

QUESTION 4

If stereotyped methods were included in an entity class MyEntity, the implementation of these methods displays in which
Java class?

A. curam.impl.MyEntity
B. curam.base.MyEntity
C. curam.fact.MyEntity
D. curam.intf.MyEntity

Correct Answer: B

QUESTION 5

Consider the following hand-crafted SQL statement (written for an entity operation) and the relevant modeled
information presented: Which of the following statements are valid?

# Stiing Value | x|

Enter the string wvalue;

SELECT A attributes A attribute3 A attributed ;!
[MTO :attnbute] ;attnbute,: attnbuted
FROM TheEntity & EntityOne B
WHERE & attribute1=E. attribute1 AND
&, attribute] = attribute AWND
B.attnbute?=: attrbute2;

aK Cancel |




) Manage Operation Parameters

Manage Operation Parameters
Thiz wizard allows to manage operation parameters and return type

default attbuteT - SAMPLE_DOMAIN
5 «defaults attiibute? : S4MPLE_DOMAIN
|y edefauits attibuted : SAMPLE_DOMAIN

5, #defaults attributeT ; SAMPLE_DOMAIN
Eg #defaults attribute? : SAM PLE_DOMAIN
= edefaults atibuted : SAMPLE_DOMAIN

A. A build generated will fail with the error message \\'Error 20500 - incorrect SQL syntax defined for nonstandard
operation on [Entity].[Operation]\\'.

B. It will only be possible to test whether the syntax is well-formed by running the SQL.



C. A build generated will complete successfully, but the entity operation may throw an exception at runtime.

D. The use of Host variables \\:attribute1\\' and \\:attribute2\\' as both argument and return variables will cause a
compilation error in the server application.

Correct Answer: BC

QUESTION 6

Examine the following UIM code:

<?xml wersion="1.0" encoding="UTF-§8"7:>

<PAGE PAGE ID="Pers onDemo_modifyP arzon'
xmlnz:xsi="hkttp:  Swww. Wi, org/ 2001 AL chema—ins tance”
®x3ai:noNamespaceldchemalocation="file: // Curam/TIMS chema, xad ™

<PAGE TITLE>
<CONNEC Tz
<A0URCE NAME="TEXT" PRCPFERTY="DageTitle.Title" />
</ CONNECT>
</PLGE TITLE»

-::PJ_I}E_P_ELP.I-.HETER NAME="concernRcleIDParam™/ -

<CUNNEC T

CS0URCE PROPERTY="concernRclelDParam™ MAME="DAGE™/ >

<TARGET PROPERTY="keyfconcernRoleID™ NALME="EeadPersonBean'/ =
S f CONNEC T

<3ERVER INTERFALCE OPERATICHN="readFerson" CLASI="MaintainPerson"
HNANE="RezdPersonfean™ PHASE="DISPLAY"/ =

<3ERVER TNTERFLCE OPERATION="mcdifyPerson" CLAZS="MaintainPsrson"
NANE="ModifyPersonBesn™ PHASE="ACTION™/ =

<CLUSTER TITLE="Cluster.Title.lfersonletails">

+/CLUSTER>

Which of the following statements are true?
A. The Page Title is read from a properties file.
B. The modifyPersonBean is invoked when the page loads.

C. A CONNECT element at the page level is used to pass a page parameter into a display phase
SERVER_INTERFACE.

D. The UIM page is called PersonDemo_modifyPersonPage.uim.

E. The cluster value Cluster.Title.PersonDetalils is read from a SERVER_INTERFACE.



Correct Answer: AC

QUESTION 7

If CLIENT_COMPONENT_ORDER= NYC, appeals, custom, service plans, which of the following statements is true?
A. All code in the core folder is ignored, as it is not on the client_component_order path

B. If screen.UIM exists in appeals and service plans, the one from service plans will be generated

C. If screen.UIM exists in NYC and appeals, the one from NYC will be generated

D. This has no effect on generated screens

Correct Answer: C

QUESTION 8

Which of the following are valid targets for the server-side build command?
A. generated

B. beandoc

C. database

D. messages

E. codetables

Correct Answer: AC

QUESTION 9

this be replaced with a set of radio buttons?

A. Ensure that the underlying Domain Definition on the model resolves to SHORT_CODETABLE_CODE.
B. Set the SHORT attribute on the FIELD to true.

C. Set the Radio Button option on the Domain Definition to true.

D. Set the Radio Button option on the corresponding struct to true.

Correct Answer: A

QUESTION 10

Which of the following stereotypes may be used on a method of a process class?



A. insert

B. read

C. batch

D. connector

Correct Answer: C

QUESTION 11

Review the following model:

w2ty

{_) TheEntity
& «keys attribute] : SAMPLE_DOMAIN
= gdetalz: attnbutes : SAMPLE_DOMAIN
o «detailss attibuted : SAMPLE_DOMAIN
B «detailss attnbuted - SAMPLE_DOMAIN
B «detailzs attributes : SAMPLE_DOMAIN
| g2 sblarks orgarizeData() |
{2, «inzerts inzert [ ]
2, wieads read (]

A |
| g g g !

B

Based on the model shown above, what will be the result of a build generated command?

A. Build Failed: The entity named TheEntity cannot have a non-default stereotyped operation

B. Build Successful (Warning: Unrecognized stereotype \\'blank\\' in entity named TheEntity)

C. Build Failed: The entity named TheEntity defines an operation stereotyped using a reserved keyword \\'blank\\'
D. Build Successful

Correct Answer: B

QUESTION 12

For which two of the following customizations is it compliant to subclass an entity? [Select 2]
A. Add a new attribute

B. Override an attribute

C. Override a database operation

D. Override a non-database () operation

E. Enable an exit point for an operation



Correct Answer: DE
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